Efficiency vs dr

o 0.05———
SO
9.045F-+--

iy

=
S
w

=
=8=UuuuL

1072 107

[ Efficiency vs dr (track,jet) |

§0.01
00.009
=
%).008
9.007
>
#.006
[©]
35=0.005
)
0.004
0.003
0.002
0.001

=
S
w

1072

Efficiency vs pu

50.05

1
AR(TP, jét)

5 S S T
e S

T R
Q . . . . . .
e R L A s 1 &
= : : : : : : :
B S R i L A A
e S e o
| S S SO S o
T EE S S
008+t o
s 1111 AR * s
1Q :

Ratio

1.1

1_— ----- ERERE = ' deERdEE -E-o 1r-5---n-(r-
20 30 40 50 60 70 80 90 100

Pileup

1
TP min AR

-1




	Contents
	Page 1


